n =2, the solution is x = y = u — 1 = z — 2. The generalization of equations (1) and
(2) can continue, but as Fermat so aptly put it, the margin is too small.

Other cases of Fermat’s craniosis have recently come to public attention. It is
alarming that a preponderance of these documented cases have occurred within the
mathematical community. In some cases, the infection has been traced back 400
years to an association with Fermat himself. The disease is eventually fatal, and the
most debilitating effect is the patient’s zealous desire to study point-set topology.

The good news is that only number theorists are susceptible to infection.
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Behold! The Midpoint Rule is Better Than the Trapezoidal Rule for Concave
Functions
Frank Buck, California State University, Chico, CA
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The Bisection Algorithm is Not Linearly Convergent

Sui-Sun Cheng and Tzon-Tzer Lu, Tsing Hua University, Taiwan, Republic of
China

The bisection algorithm is a method for finding a root of the equation f(x) =0,
where f is continuous on [a,b] and f(a)f(b) < 0. Let a(1) = a, b(1) = b and let p(1)
be the midpoint of [a(l),b(1)]. Now let [a(2),b(2)] be one of the halves of this
interval for which f[a(1)]f[6(2)] <0, and let p(2) be the midpoint of [a(2),5(2)].
Proceeding in this manner, the bisection algorithm generates a sequence of bracket-
ing intervals [a(i), b(/)] and a sequence of midpoints p(i) of these intervals. It is well
known that p(i) converges to a root p of f. Some authors go even further and assert
that p(i) converges to p linearly—that is, there is some integer N and some constant
Q such that |p(i + 1) — p| < Q|p(i) — p| for all i > N. This is not true in general.
Although other authors have not made such an assertion, it is surprising that they
give no counterexample. Here is a counterexample.

Let p=2""+2"%+ ... 427"+ ... and let f(x) = x — p. Let the first bra-
keting interval of the root p be 27, 1]. Then it is easily verified that the second and
the third bracketing intervals are [27',27'+27?] and [27!,27! + 273]. In general,
let S(n)={n’n*+1,...,(n+ 1> =1} for n=1,2,... . Then these sets form a
partition of the set of positive integers. We assert that for i € S(n), the ith
bracketing interval is

[a(i),b(i)]=[27"+27%+ - #2727 4274+ . 4274 27]. (%)
The proof is by induction. We have seen above that (*) holds for each i € S(1).
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